

Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
April 8, 2024	Name of Event	Millbrook Whraf Visit	
	Location of Event	Millbrook	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentals - (\$5.00 per night)		
	Business Meal(s)	1 Lunch	\$ 15.00
	Mileage Rate - <i>(\$0.5838)</i>	183KM	\$ 106.83
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 121.83



Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
			COSL
April 15, 2024	Name of Event	Argyle Aquauclture announcement	
	Location of Event	Argyle	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentals - (\$5.00 per night)		
	Business Meal(s)	1 Lunch 1 Breakfast	\$ 23.00
	Mileage Rate - <i>(\$0.5838)</i>	636KM	\$ 371.30
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 394.30



Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
April 20-26, 2024	Name of Event	Global Seafood Expo	
	Location of Event	Barcelona Spain	
	Air Destination - (From-To-Return)	Halifax-Barcelona	
	Air Fare Including All Taxes		\$ 2,015.69
	Name of Hotel & Location	Colon	
	Hotel Rate Per Night x Number of Nights	404.12 X 5	\$ 2,020.60
	Hotel Incidentals - (\$5.00 per night)	6	\$ 30.00
	Business Meal(s)	2 lunch and 1 Breakfast	\$ 38.00
	Mileage Rate - <i>(\$0.5838)</i>		
	Parking Rate		
	Taxi Rate	2 taxi	\$ 106.00
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 4,210.29



Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
May 12-15, 2024	Name of Event	Cape Breton Meetings	
	Location of Event	Cape Breton	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location	Holiday Inn Sydney	
	Hotel Rate Per Night x Number of Nights	186.78 X 3	\$ 560.34
	Hotel Incidentals - (\$5.00 per night)	3	\$ 15.00
	Business Meal(s)	1 Breakfast, 3 Dinners	\$ 68.00
	Mileage Rate - <i>(\$0.5838)</i>	1182 KM	\$ 690.05
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 1,333.39



Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
			COSI
May 23, 2024	Name of Event	Fraser Mills Hatchery Tour	
	Location of Event	Sherbrooke	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentals - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - <i>(\$0.5838)</i>	440	\$ 256.87
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 256.87



Fiscal Year April 1, 2024 - March 31, 2025 (Summaries are submitted at the end of each month reflecting previous months' expenses)

Dates By Event (Month, Day, Year)	Subject (By Event)	Information	Cost
May 31, 2024	Name of Event	Piper Lake Tour & Pictou Office Visit	
	Location of Event	Pictou	
	Air Destination - (From-To-Return)		
	Air Fare Including All Taxes		
	Name of Hotel & Location		
	Hotel Rate Per Night x Number of Nights		
	Hotel Incidentals - (\$5.00 per night)		
	Business Meal(s)		
	Mileage Rate - <i>(\$0.5838)</i>	376	\$ 219.51
	Parking Rate		
	Taxi Rate		
	Other Miscellaneous Expenditures		
		TOTAL PER EVENT	\$ 219.51